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Questions

The joint that allows the movement in two directions is called.

The vertebral column of human consists of vertebrae.

Which one of the following is not an unpaired bone.

Which one is not a bone of axial skeleton

All of the following bones are associated with coxal bones, except.

A bone is ot a part of pelvic girdle.

The fusion of four posterior vertebrae present in the pelvic region from.

The number of lumbar vertabrae are

in thoracic region, number of vertebrae is.

The numebr of cervical vertebrae are.

The clavicle connects scapula with.

Neck Region is called.

Which of the following is K bone of axial skeleton.

Mature bone cells are called as

The process of moulting is controlled by the nervous system and a hormone called.

Answers Choice
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. Cartilaginous joints

Hinge joints
Syrovial joints
Ball and Socket joints

31
32
33
34

Mandible
Vomer
Nasal
Sphenoid

Ribs
Sternum
Pelvic
Cranium

llum
Ischium
Pubis
Calvicle

Tillum
Ischium
Humerus
Pubis

Sacrum
Lumber
coccys
Chest cage

5
7
12
33

12
15
4
5

7

12
33
32

Skull
Sternum
Tibia
Femur

Lumber region
Thoracic region
Cortical region
Pelvic region

Humerus
Femus
Tibia

Rib

osteocytes

Chondrocytes
Osteoblasts
Blastocytes

Aldosterone
Ecdysone

. Oxytocin

. Androgen
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The living cells of cartilage are called

Which bone provide attachment site for muscle.

A. Cridocytes

C. Blastocysts
D. Nematocytes

B. spongy bone
C. Cartilage
D. soft bone



